7.6 PA.notebook

Do Now:

1.)15*8
2)26*6
3.)0.75(5)

4.) 0.85(9)

December 16, 2015

Do Now: Complete these two problems
from your printed notes sheet.

There were about 198,000 spectators at an action sports
event in 1995. The number of spectators increased by 12%
from 1995 to 2002 . About how many spectators were in

20027
A ,760 Spectators

In 1983, the average price of an audio CD was $21.50. By
2000, the average price had y 34.8%. What
was the average price of a CDin-2006 \L\ 0
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7.6 Percent Applications

7.RP
7.EE
8.EE

« SWBAT find markups, discounts, sales tax, and tips.
* SWBAT represent and analyze situations using algebraic
symbols.

Calculators: Yes

Re__\__ P‘ ice = l/\)b\uleSd\-Q P(\CL <IOO"}0 +M-‘<U§:>
i\ P“/b INCrease \afOUEN\

Sales e = Drig Price O()O% — Dksouw>
™\ g durese
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markup- ar@from the wholesale price
of an item to the retail price

discount- a(decreasQ from the retail price of an
item to the sale price

%fm\ = Food R} + Sales Tax +Ti§>
o) Coss= Bl (1002 ¥52i8 + T
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A street vendor buys bracelets from a
manufacturer for $7 each. The vendor marks up
the price by 150%. What is the retail price?

Rerail Frice = ol (IOO% T ISOV)
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- 9(2:50)
= 17.50
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Find the@;@of a collectible figurine
with a who cost of $12 that is marked

up 75%.

Resoil = 12(100% +75
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Mason buys a suit that isdon sale)for 20%_off
the orlgmal price of $180. What is the& sale
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The bill for your restaurant meal is $22. You
leave % tip. The sales tax is 6%. What is
thé total cost)of your meal?
G
Torl Cst= 3200+ 7,
= a1y )

- aa(\.;n)

* d6,63

836.61

Find Tip

Tya) Cost = 92 (100% ¥ 154)
- 52 (115%)
_ (1) 53530

- 5 - 92.00
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3.3

The bill for a family's meal at a restaurant is
$68. They leave a 15% tip. The sales tax is 6%.
What is the total cost of the meal?

Totul Gst= 6% (100% +157% 4.1

= 6% (1a14)
@“ 6%(1.&\)

R YR
Tip= 8 (15'A) Tax= 68 (106k64
J
= 6% (0.5) = 65 (106%)
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A furniture store marks up the wholesale price
of a desk lamp by 80%. The retail price is $35.

What is the wholesale price?
19441001457
194401507
S (13O 1944 190

(535)
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A furniture storekmarks up the w sale price
Thetetail pric i

of a desk lamp-by 80%
Vhat is the wholesale price?

P Price= Whdesee Bice (1005 ¢ Moky'd)
35 = X (10054 + 0

25 = X (\{50'/9
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A dress store marks up the@wholesale priceof a
prom dress by d415%3%The retail price is $180.
What is the wholesale price?

\whelesalte pree= (3D ={ |00 /154 >
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130 = x(a\s‘/h)

NS s

$3T2=X

Exit Pass 7.6

Describe a method for finding the sales price
of an item if you know the original price and
the discount percent.

"Don't blame the sea if you cannot catch a fish."
Working individually or with a partner, complete the workbook.

Workbook pg.
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Reflection of Today's Lesson
7.6 Percent Applications

7.RP
7.EE
8.EE

« SWBAT find markups, discounts, sales tax, and tips.
« SWBAT represent and analyze situations using algebraic
symbols.

Calculators: Yes

Homework

pg. 360 #8-23
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